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1. In parallelogram OPQR, diagonals PR and OQ intersect atS. Then0S =
R Q

O P

(i) PS (ii) QS (iii) PQ (iv) RS (v) RO

2. The figure formed by successively joining the mid-points of the sides of a rectangle is

(i) rectangle (ii) rhombus (iii) square (iv) parallelogram

In the given figure, FGHI is a parallelogram. FH bisects ZF & £ZH.
" GivenFH = 12 cmandGl = 8 cm, findFG
| H

F G

(i) 8.21cm (ii) 6.21 cm (iii) 7.21cm (iv) 5.21cm (v) 9.21 cm



In the adjoining figure, ABCDis a kite in whichAB=DA,BC=CD
4. and the diagonals BD and AC intersect at O.
If LOCD = 47.39° and LABO = 53.02°, find the measure of each of the angles marked a,b,c,d and e.
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(i) a=42.61°,b=37.98°,c=>52.02°,d=44.61°, e =45.39°

(i) a=42.61°,b=37.98°,c=52.02°,d = 44.61°, e = 47.39°
(iii) a=42.61°,b =37.98°,c =52.02°,d =42.61°, e = 47.39°
(iv) a=42.61°,b=36.98°,c=>53.02°,d=42.61°,e =47.39°

(v) a=42.61°,b=37.98°,c=53.02°,d=42.61°,e =47.39°

5. In kitelJKL, IK and JL are diagonals. Then £IM] =
K

(i) £KL) (i) £KLl (iii) £IML (iv) ZIY (v) Z1K

6. ldentify the figure below
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(i) quadrilateral (ii) square (iii) parallelogram (iv) trapezium (v) rhombus



In the adjoining figure, HIJKis a parallelogram in which
" LKHJ = 31.39°, ZJHI = 21.17°, LKL) = 114.12°. Calculate ZJKI
K J

H I

(i) 42.71° (ii) 44.71° (iii) 45.71° (iv) 46.71° (v) 43.71°

8. In parallelogramLMNO, diagonals MO and LN intersect atP. Then ALMN =
(8] N

L M

(i) AOLM (ii) AMNO (iii) ANOL (iv) ALMP (v) ANOP

9. In rhombus CDEF, diagonals CE and DF intersect atG. Then ADEF =
F E

C D
(i) AEFC (ii) AFCD (iii) AGCD (iv) ACDE

10. One of the diagonals of a rhombus is equal to one of its sides. Find the angles of the rhombus
N M

K L
(i) K=62°,L=119°,M=58°,N=121° (ii) K=58°,L=122°,M=59°,N=121°
(iii) K=61°,L=119°,M=62°,N=118° (iv) K=59°,L=118°,M=61°,N=122°

(v) K=60°,L=120°,M=60°,N=120°



In the given figure, EFGH is a parallelogram. The bisector of the angles E, F, G & H intersect at T, U, V & W to
" form a quadrilateral. Find ZWTU

H G

E F

(i) 90° (ii) 88° (iii) 92° (iv) 89° (v) 91°

12. Which of the following statements are true?

a) All quadrilaterals are trapeziums
b) All quadrilaterals are parallelograms

)

)
c) A parallelogram is a trapezium
d) All trapeziums are parallelograms
)

e) The set of parallelograms is a subset of the set of trapeziums

(i) {d,a,c} (ii) {c,e} (i) {a,c} (iv) {b,e} (v) {b,ec}

13. In rhombusLMNO, diagonals LN and MO intersect atP. Then AOLM =
8] N

L M
(i) APLM (ii) AMNO (iii) ANOL (iv) ALMN
In the given figure, EFGH is a parallelogram

14. such thatland]are mid-points of sidesEF &GH.
EJmeetsFHatPandGlmeetsFHatQ. GivenFH=17 cm, findFQ

(i) 6.67 cm (ii) 3.67 cm (iii) 7.67 cm (iv) 4.67cm (v) 5.67 cm



15. In kiteHIJK, H) and IK are diagonals. Then ALJK =
]

H

(i) AUl (ii) ALIH (iii) AKIH (iv) AKI} (v) ALKH

16. In rhombusGHIJ, diagonals Gl and HJ intersect atK. Then £I)G =
] I

G H

(i) £HI) (ii) £GHK (iii) £JGH (iv) £GHI

17. In rhombusBCDE, diagonals BD and CE intersect atF. Then ZBCF =
E D

m

C

(i) LEFD (ii) £FEB (iii)) £DEF (iv) £4FCD

18. In rhombusJKLM, diagonals JL and KM intersect atN. Then ANJM &
M L

<
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(i) ANJK (ii) ANLK (iii) AMJK (iv) ANLM

19. How many diagonals does a quadrilateral have?

(i) 2 (ii) 3 (i) 1 (iv) 4 (v) O



20. In kiteOPQR, OQ and PR are diagonals. Then ASPO =
Q

O

(i) ARPO (ii) ASRO (iii) ASQP (iv) ASQR (v) ARPQ

21. In rhombusABCD, diagonals AC and BD intersect atE. Then DA #
D C

A B

(i) CD (ii) BC (iii)) BD (iv) AB

22. Which of the following are true?

a) A parallelogram is a square
b) A square is a rhombus
c) A square is a rectangle
d) A rectangle is a square
e) A rhombus is a square

(i) {d,c} (i) {b,c} (i) {d,c,b} (iv) {a,b} (v) {e,ab}

23. In kiteMNOP, MO and NP are diagonals. Then ZOPM =
o

M

(i) £MQP (ii) £OPN (iii)) £ZMNO (iv) £ZMQN (v) ZMPN



24.

25.

In the given figure, EFGHis a kite whose diagonals intersect atl.
If LZHEF = 50.93°and £FGH = 88.38°, calculate ZIHEand ZIFG.

(i) x=64.53°,y=45.81° (ii) x=66.53°,y=47.81° (iii) x=62.53°,y=43.81°
(v) x=65.53°,y=46.81°

In parallelogram LMNO, diagonals MO and LN intersect atP. Then MN ||
0 N

L M

(i) MO (i) OL (iii) LN (iv) LM (v) NO

(iv) x=63.53°,y=44.81°



Assignment Key

1) (ii) 2) (ii) 3) (iii) 4) (iv) 5) (iii) 6) (ii)
7) (ii) 8) (iii) 9) (ii) 10) (v) 11) (i) 12) (ii)
13) (ii) 14) (v) 15) (i) 16) (iv) 17) (i) 18) (iii)
19) (i) 20) (ii) 21) (iii) 22) (ii) 23) (iii) 24) (i)
25) (i)
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